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Important Instructions :

1. Immediately fill the particulars on this page of the Test Booklet as well as Answersheet
) g

with Black or Blue Ball Pen. Use of pencil is strictly prohibited.

o

.

Do not open this Test Booklet until vou are asked to do so.

3. This Test Booklet contains of 90 questions.

4, There are two sections in the question paper i.e. Section-A and Section-B.
5. The Section-A contains three parts i.e. Part-I, Part-1l and Part-II1.

6. The Part-I contains 10 questions of English.

The Part-1I contains 10 questions of Mental Ability.

8. The Part-III contains 10 questions of Basic Mathematics.

9. In Section-A, each question carries ONE mark. There is no negative marking system.

10.  The Section-B contains THREE parts i.e. Part-I, Part-II and Part-IIL

11.  The Part-I contains 20 questions of Physics.

12, The Part-1I contains 20 questions of Chemistry.

13.  The Part-III contains 20 questions of Mathematics.

4. In the Section-B, each question carries 4 marks. There is negative marking system. For
each wrong answer 1T mark will be deducted.

15.  There are four choices for every question, out of which only one choice s most correct.

16, Filling up more than one responses in any question will be treated as wrong response and
marks for this will be deducted according to negative svstem.

17.  No candidates is allowed to carry any printed or written textual material, bits of papers,
cell phone and any other electronic devices.

I8, Rough work is to be done on the space provided in the Test Booklet only.

19, Oncompletion of the test, the candidate must hand over the Answer Sheet to the Invigilator

on duty. However, candidates are allowed to take away this Question Paper with them.

20. Do not fold or make any stray marks on the Answer Sheet.

Name of the Candidate (in Capital letters)

Seat No: In figures
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SCSS-ST-SB-PCM-22

(Part—I1 — Mental Ability)

14.

15.

16.

Find the missing term in following number sevies,

1.4, 2% 16,7 036, 343
1) 25 2) 87
3) 120 4} 125
Which term comes next in the sevies " YER WFD UHG, SKIL. 7
13 QOL 2) QGL
30 TOL 1) (NL
Anaemia  Blood © Anarchy 77
1) Lawlessness 2) Government
30 Monarchy 1) Disorder

I a certain code language. RUSTICATE s written as QTTUIDBSD. How would STATISTIC

be written in that code 7

D) RSBUJTUHB 2) RSBUITUHB
30 RSBUIRSJD 4 TUBUITUMB

Figures A and B are related in a particular manner. [istablish the same relationship between

ficures C and D by choosing a figure from amongst the four alternatives. which would
= o =] =

replace the question mark in tig. (D).

/”\; 7 Y
3) ,, 4) s
. ¥/ . A

Deepa moved a distance of 75 metres towards the north. She then turned to the left and
walking for about 25 metres. turned left again and walked 80 metres. Finally, she turned

to the right at an angle of 45°. In which direction was she moving finally ?

1) North-east 2) North-west
3) South 4) South-west

Space For Rough Work

{3 (PTO)
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(Part—II1 — Basic Mathematics)

bo

b
v

Two pipes A and B ean fill a tank in 16 hours and 20 hours respectivelly. If the both pipes

are opened simultaneously then how much time will it take to fill the tank?

0 83— hre 2) oy hrs
17 17
3) 543 hrs 4 hl; hrs

If the length of the diagonals of vhombus are 30 em and 16 em respectively. Then perim-
eter of rhombus 18

3] 17 em 21 69 cem
3) 68 em 4) 63 em
eanie B e 1+ o2 then value of SMOECOSH.
ang= q and g* = 1+ p~ then value of o0 —sinb 18

D (p—g)- 2)  Ag-p)?

Copiq o
3) ;:‘1'3 9 (p+qg?
If the values of 3 =+/3 b=4/5,c= V7 then values of (a ~ b+ (b — )P+ {e—a)lis
D 3 (a=b) (b—c) (c-a) 2) 3 la+b) (b+e) {ct+a)
3 3abe 4)  none of these

The segment AB is trisected by the points P and Q then length of PQ is
where A =(5. - 6)and B =( -7, ~1)

153
1 13 23 i
; 13
3) 3' 4 None of these

Space For Rough Work
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SCSS-ST-SB-POM-22

Section - B : (Part —I — Physics) |
31 The apparent bending of a straw placed in a glass of water is due to
1 reflection of light 2) refraction of hight
3 rectilinear propagation of light 1 curve nature of light
39 Out of the following which has a virtual focus
1) convex lens 21 plane mirror
2 concave lens 4) CONCAYE MUTToT
33 Frect image by convex lens 18 always
1 same 8176 2) magnified
30 diminished 1) verv small size
34, In a region. a uniform magnetic field B is directed perpendicular and inward as shown, A
cemi cireular closed metallic ring "ACT is rotating about "0
@ & &
A
Y B
® & &
0
N v
& & &
1) there will be no induced emf in the ring
2)  there will be no induced current in the ring
3) there will be induced current in the ring
9] there will be magnetic field only
35 A cvlindrical bar magnet is kept along the axis of a eireular coil. If the magnet is rotated

about its axis’ then

1) A current will be induced in a coil

2) No current will be induced in a coil

1

3 Onlv an emf will be induced in a coll

1) An emf and a current both will be induced in a coil

Space For Rough Work
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40.

shown in the figure. Analvse and choose the corrvect option of the

it strength (D in ampere on Y-axis and time (t) in second on X-axis plotted as
o
i

K \ 1
L AN
* ! AN
? AN
A ke N
1) In the interval Os to 20s current has same direction and magnitude
2) The direction of the current is reversed just after 20 second
31 The strength of the current is increasing from 30 second to 40 second. but in opposite
direction to that of initial divection during 0 s to 30 &

4) The directions of the current between 25 second to 30 second and 15 second to 20

second are opposite
In a liquid across a cross-section. the flow of charge (including positive and negative ions)

within a time interval of one milli second 1s as shown. the current strength can be

8] 1 x 10 along +ve x-axis

2) 10 Aalong +ve x-axis

3) 1072 A along +ve x-axis ‘ s
4) 0.4 Aalong —ve x—axis A=10 " Second

For a particle at vest, which of the following quantity does not change any where

1) mass 2)  weight
3) gravitational force 4) acceleration due to gravity

Two objects of mass 2 kg and ] kg separated by a distance of 4m. Find the gravitational

force between the two bodies

1) 4% 6.67 x 101N 2) 41X 6.67 x 108N

3) 6.67x 10° N 4) 6.67 x 10-1I N

Find the increase in K.E. of a body of mass 200 g, when its speed increases from 4 m/s to 5 m/s?
D 0.9J 2) 9.

3 900 J 1) 90 .J

Space For Rough Work

(9 (PTO)
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SCSS-ST-SB-POM-22

i Part I1 — Chemistry
51, The water which is fit for drinking is called
1 biack water 2) hot water
31 potable watey 1) sewage water
- Yy 3 B . 1 B kY PEEEY s
52 The mass of an electron is about \ times the mass of hj\’(‘és‘ug{a"n arom. The value of X s
i) 2 2) 200
3 2000 4 20000

53.  What will be the percentage loss in mass when NaHCO ;15 heated at 30°C7 (approximate)
Molecular mass of NaHCO, = 84, Na,(CO4 = 106

1 60% 2) 45%
3 3T% D T0%
54, Which of the following pair of oxides are amphoteric 7
D S0, CO, 2)  ALO, Zn0O
3) Na,O. MgO 1 ALO; €O,
55.  Which of the following molecule has maximum type of bonds 7
D CusSO, 5H,0 2)  NaClO,
3y HF 4) NHj,

56.  Iron is harder than sodium because
1) iron atoms are smaller
2)  iron atoms are more closely packed
3) metallic bonds are stronger in sodium
4) metallic bonds are stronger in iron
57 At 25°C & 760 mm of Hg pressure a gas occupies 600 ml volume. What will be its pressure
at a height where temperature is 10°C and volume of the gas is 640 ml ?

1 3383 mm Hg 2)  1353.2 mm Hg
3) 6766 mm Hg 4) 1014.9 mm Hg
58.  Which of the following contains highest number of oxyvgen atoms.
1) 1g of Oxvgen atom 2) lg of O,
3 dgof Oy 4 2gof H,O
59, The acid used for washing eve is
1) boric acid 2} acetic acid
3) hvdrochloric acid 4) oxalic acid
0. Which of the following has lowest melting point ?
D Acetic acid (CH;COOH) 2)  Chloroform (CHClL,)
30 Ethanol (CH;CH,OH) 4 Methane (CH
61, In Na(lionic solid each Na® ion is surrounded by how many Ol jons?
1) 6 2) o]
3) 1 42

62, Among () Na,O (b)) MgO (o) ALO, (D) P,0; {e) CL,O- the most basic. most acidic and
amphoteric oxide can be
1) a. b.c 2) b.oe ¢

(1 (PTO.)
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Part 111 — Mathematics

.

S

)

it

76,

i

1

The coordinates of the third vertex of an equilateral triangle. whose two vertices are at (3. 44

Do 2)
A £y 5 e = /3
-3 3 1+43 7+5v3
. e e 1 : .
37 - 1 7 ; 4
2 .2 2

If the angle of elevation of a cloud from a point h metres above a lake 1= x and the angle of
depression of its reflection in the lake 1s v Then the distance of the cloud from the point of
observation is

2hsecx 2hcosx
1) T T 2} T
tanv +tanx fanx +tanvy
2hcotx 2hsecx
3 e e 1 } e
[ E N s
tan v+ tanx tany —tanx

A toy is in the form of a cone mounted on a hemisphere with the same radius. The diameter
of the base of the conical portion is 12 ¢cm and its height is 8 em. Then surface area of toy is
(m =314

) 41448 cem” 2) 41348 em-”

3 413.68 em? 4)  412.68 em?

The inner circumference of a civcular track is 24 1 metre. The track is 2 metre wide from
everywhere. The quantity of wire required to surround path completely is

1) 80m 2)  8&Im

3 82m 4  88m

The mean of 9 observations is 36. If the mean of the first *5" observations is 32 and that of
the last 5 observations is 39. then the fifth observation is

13 DI o 1
i/ S0 &l 34
3) 43 4) 37

Aand B together can do a piece of work in 15 days. If one day’s work of A be 1‘,; fimes. one

dayv's work of B. Find how many day’s will each take to finish the work alone?
U 25037 2) 255037
3 260375 4) 25375

Space For Rough Work

(13 (PTO)
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86,

38.

89

If the roots of the equation (a ~ bix= + (b - edx -+ e —a) = 0 are equal then

1} 3%; e .f: Yoo }? S
A

3 Ze=a+h 1 =
D a e

A man walks a distance of 48 Km in a given time. If he walks 2 Km/hye faster. he will
perform the journev { hrs before. His normal rate of walking is

1) 3 Wm/hr 2) { Km/hy
33 -6 Km/hr 4 5 Km/hr
’i“mi%u are 25 trees at equal distances of 5 meters in a line with a well. The distance of the
well i”mm the nearest tree being 10 metres. A gavdener waters all the trees separatels
starting from the well and he returns to the well after Wzﬂ‘m'm”‘ cach tree to get water for

i
the next. Find the total distance. the gardener will cover in order to water all rhe trees

1) 3000 m 2) 3500 m
3) 3800 m 4) 4000 m

14 tree casts a 18 feet shadow and at the same time. a child of height 3 feet casts a 2 feer
shadow. then the height of the tree 1s

1 32 feet 9) 45 feet
3) 36 feet 4) 27 feet
" J3a+2b++/3a-2b - )
{ X = ) m hen 3?\': i _

J3a+2b - J/3a-2b
Y s 2) 3ax

9) I 4) 3bx
If sin“('),‘ +sin3(33 +sin’ 6, =0.

Then which of the following is not possible value of cos8, +cos8. +co0s0, 7

1) 3 2) -3
3 1 D _y

ftanA+simA=mand tan A—sinA=nthenm —n"=

D 4ym 2 44n

3) 4 mn iy 4 mn

A bag contains 12 balls of two different colours, out of which X are white. One ball is drawn
at random. If 6 more white balls are put in the bag, the probability of drawing a white ball
now will be double to that of the previous probability of drawing a white ball. Then. the
value of X 1s

1) 3 23 4
35 47 6

Space For Rough Work

(PTOD
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